





e

100bar

HHES

£7P 2017 2 1136530.4(P E)
$FREM553390(28)







RSk Emms i

MODEL PRODUCT SPECIFICATIONS ~ ° & L A B
1-DG-15 BIRPIR (7 L.5) 015X 05,8 5 58 02 2
nozzle(straight 1.5)
1-DG-30 BRI (7.3.0) 03.0X05.8 3 58 220
nozzle(straight 23.0)
EFERE (714.0)
1-DG-40 oratiasht b ) 04.0X 5.8 4 58 2 2
REBEEE (7.1.5)
LDG-15S O ey oLSXeT3 5 73 | 18 35
KAEEE (7.3.0)
N1 0630s (O e geong 0% 3 73 18 35
NOZZLES "
1-DG-40-s  AAEEE(H40) 04.0X073 4 13 18 | 3%
nozzle(wide-angle g4.0)
=7 B
106153 PR 3-015Xa73 5 73 43 30
=1
1-D6-15-2:A90 | " EER ) 2-015Xg73 15 73 243 30

ik Emm & B4 (S) ~AmEH @ ==
MODEL PRODUCT  SPECIFICATIONS SCREW HExacoN ° B L A B
|J £
1-DG-20-GF BRI . 92X13X@7.3 'M14XP1.0 16 13 | 73 | 49 25
flat nozzle(straight)
. I
LU 1-DG-30-GF ?"ﬁyﬁuﬁ . 93X17X@g7.3 MI14XPLO 16 17 13 49 25
NOZZLES at nozzle(straight)
FREUEN
1-DG-30-SF flatnozzle 23X20X@7.3 'M14XP1.0 16 20 1.3 49 25
(fan-shaped)
il Emma & o = —
MODEL PRODUCT SPECIFICATIONS 5 5 A B
R ”??TETETEE (79db), =TiRE 67%,
SPECIAL HEE AERERE 3%
\[0#lZW 1-DG-AIR ~ PERE Sound level (79db), Noise 73 276 25
nozzle(silence) ) )
reduction 67%
Energy savings 37%

PROPISTON HYDRAULICS CO.,LTD.



B Emms

i 25 (S1) B

(82)

L 7NBE 1(H1) 73 B@E2 (H2)

MODEL PRODUCT SPECIFICATIONS  SCREW SCREW HEXAGON  HEXAGON
EiEkEE -PT1/8"
. 1-DG-PT1/8 adaptering PT1/8"xM14 | PT1/8" |M14xP1.0 28 12 16
B element(PT1/8")
ADAPTERING
ELEMENT
L2
1-DG-pp  2daptering M14XM14  M14XPLO M14XPLO 25 16 16
element
(double-ball)
Hige Emm R 1243 (5) L FNAE 1(H1) 7~ATE2 (H2) B
MODEL PRODUCT SPECIFICATIONS SCREW HEXAGON  HEXAGON a
ot e
1-BG-1 E;“g.zk%ﬁ M14X21.5mm M14XP1.0 215 11 16
" asic element
piNe
BASIC
ELEMENT
1-BG-75 QEE. M14X75.5mm M14XP1.0 75.5 11 16
extension element
g Emm b 124 (S) U D NAELH) ~AE2H)  EAE(Q) B
MODEL PRODUCT SPECIFICATIONS SCREW HEXAGON ~ HEXAGON QUADRILATERAL "
AN2Y2\IN 1-BG-A90 90’.22'&%% o M14X90° M14XP1.0] 26.3 | 29.5 11 16 16
basic element 90

— 0O KEHEERRHBRAH




JEEE

ADAPTER

JEEE
ADAPTER

L BUJEE adapter-45° /90° -L

2 ERf BE BB BR) |, o ABEH DEEQ i
MODEL PRODUCT SPECIFICATIONS SCREW SCREW HEXAGON QUADRILATERAL
L90 [ERE -PTL/4" & " o "
1-CG-L90-1/4-L adapter(90°-L—PTl/4") PT1/4"X90° |PT1/4" |M14XP1.0| 32 26.3/5.8 11 16
L90 52 -PTL/8" & e ’
1-C6-L90-1/8-L adapter(90°-L—PTl/8") PT1/8"X90° |PT1/8" [M14XP1.0 32 243 5.8 11 14
L45 [ERE -PTL/4" & " o "
1-CG-L45-1/4-L adapter(45°-L-PTl/4") PT1/4"X45° |PT1/4" |M14XP1.0| 33 10.5 5.8 11 16
L45 EF:E 'PT1/8" E n o n
1-CG-L45-1/8-L adapter(45°-L—PTl/8") PT1/8"X45° |PT1/8" |M14XP1.0 33 10.5 5.8 11 14
L45 B -PTL/A" 5 "o e ’
1-CG-L45-1/4-S adapter(45°-S-PT1/4") PT1/4"X45° |PT1/4" [M14XP1.0 25 10.5 5.8 11 16
L45 [EFE -PT1/8" 45 " o "
1-CG-L45-1/8-S adapter(45°-S-PT1/8") PT1/8"X45° |PT1/8" |M14XP1.0| 21 10.55.8 11 14
TZEREE adapter-basic
g EmmE 1R 1247 (S1)  #B41(S2) L g NAEH i
MODEL PRODUCT SPECIFICATIONS  SCREW  SCREW HEXAGON
TEEERE -PT 1/8" " 5 "
1-C6-1/8 e oTy/e) PT1/8"X180° | PT1/8" M14XPLO 185 = 58 15
TEEERE -PT 1/4" " 5 "
1-CG-1/4 adapter(PTl/4") PT1/4"X180 PT1/4"  M14XP1.0 185 5.8 15
TZ#KEE -PT 3/8" " 5 "
1-CG-3/8 adapter(PT3/8") PT3/8"X180 PT3/8" M14XP1.0 185 8 17
IKEEIRE adapter-ball
RigE EmmE R 124 (S) R L B AAE (H) B
MODEL PRODUCT SPECIFICATIONS ~ SCREW HEXAGON
1-CG-B12 SRR 012 212 X180° M14XP1.0| @12 24 7.2 11
adapter(ball #12)
1-cG-B14 TEEE0l4 pl4X180°  MXPLO ol4 | 25 | 72 11
adapter(ball g14)
BREEERE 016 o
1-CG-B16 adapter(ball o16) 216X180 M14XP1.0| @16 26 7.2 11
[EIH/ERE adapter-cylinder
RisE ERRE e B4 () R L B
MODEL PRODUCT SPECIFICATIONS SCREW
EFEEE 016
1-CG-C16 |adapter @16XPT1/8" PT1/8" ol6 13.4

(cylinder o16)

PROPISTON HYDRAULICS CO.,LTD.



B

Emms

i

MODEL PRODUCT  SPECIFICATIONS D = L & B
{4
Ve AR (7,6.5)
2-DG-65 |nozzle 96.5X@13 6.5 13 33 20
(straight 26.5)
itk Emm I BR(S) ~BEM 5 5 | A B
MODEL PRODUCT SPECIFICATIONS ~ SCREW  HEXAGON "
—
2.0G-20-GF ZHEHE 2X13Xal3  M4XPL25 21 | 13 13 392 25
flat nozzle(straight)
o bt Rl
L 2 DG-30-GF ?”ﬁyﬁ”ﬁ . B3X17Xgl3  M4XPL25 21 17 13 392 25
NOZZLES at nozzle(straight)
RAENE
2-DG-30-SF |flat nozzle @3X20X@l13  |M24XP1.25 27 20 | 13 139.2| 25
(fan-shaped)
ik Emma g 124y (S1) 184 (S2) L NAEL(H) ~AE2(H) B=
MODEL PRODUCT  SPECIFICATIONS SCREW  SCREW HEXAGON ~ HEXAGON "
®izE
ADAPTERING EIETKEE -PT1/4"
203[11\18 2-DG-PT1/4 |adaptering PT1/4"XM24 | PT1/4" |M24XP125 35.2 19 27
element(PT1/4")
il ERmg 18 245(9) L 7ABELHL) ABE2(H2) B
MODEL PRODUCT SPECIFICATIONS ~ SCREW HEXAGON  HEXAGON "
st i
2-BG-1 IR M24X32.3mm  M24XP125 323 19 27
basic element
BASIC
ELEMENT
2-8G-100 TR M24X100mm  M24XP125 100 19 27
extension element

— @ KEHEERRHBRAH




32

JR313 N 2-BG-A90

ADAPTER

i ERfd g BE(S) |, o NAELH) ABE2MH) MEEQ T
MODEL PRODUCT  SPECIFICATIONS SCREW HEXAGON  HEXAGON  QUADRILATERAL "
90 5 o
basic elementoge. M4X90°  NMXPLYS 39.5 42.2 27 25
RgE ERRE g BE(S) S | g NEEMH B
MODEL PRODUCT ~ SPECIFICATIONS SCREW  SCREW HEXAGON "
IEERE -PT 1/4" I oo "
2-C6-1/4 [y e pT1/A") PT1/4"X180° | PT1/4" M24XxP125 28 | 125 2%
IEERE -PT 3/8" S a0 ;
2-C6-3/8 i vepT3/8") PT3/8"X180° | PT3/8" M24XxPL125 28 | 125 2%
*E%EEE 'PT 1/2" n o n
2-C6-1/2 4 e oT1/2") PT1/2'X180° | PT1/2" M24XPL125 32 | 125 y

PROPISTON HYDRAULICS CO.,LTD. @ —




